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Rubric
a. 1 point
b. 1 point for answer;

1 point for explanation
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9. To find the mean absolute deviation, first find the mean of the data set. Round to the:
nearest whole number.
8+7+65+8+9+10+7.5+495+8+9.5+10+7+8+7 _115 _

14 T4
The mean of the data set is about 8 hours. Use this to find the mean absolute deviation.
04141.5+0+142405+15+0+1.6+24140+1 _
14

The mean absolute deviation is the mean distance from each data value to the mean of the

data set. So, the number of hours Linda sleeps each night is an average of 1 hour from the
‘average number of hours she sleeps.

Rubric
1 point for mean; 1 point for mean absolute deviation; 1 point for explanation of distribution
10.a. The residents of Suzanne's street use an average of 88.75 gallons of water per day.

1m+92+83+75;96+112+80+73:¥:a&75

The residents of Jason's street use an average of 85.9 gallons of water per day.

81462498+ 74+82+100+121+93+76+72 _ 859
10 10

So, the residents of Suzanne’s street use more gallons of water per day on average.
b. First, put the data sets in order.

Suzanne's street: 73, 75, 80, 83, 92, 95, 100, 112

Jason's street: 62, 72, 74, 76, 81, 82, 93, 98, 100, 121

8

1

=859

For Suzanne's data set, the lower quartie is 2280 _77.5 gallons per day and the
upper quartile is. 95"2"’“ =97.5 gallons per day. So, the interquartile range is

97.5-77.5=20 gallons per day.

For Jason's data set, the lower quartile is 74 gallons per day and the upper quartile is
98 gallons per day. So, the interquartile range is 98 — 74 = 24 gallons per day.





image8.png
The interquartile range for Jason's data set is greater than the interquartile range for
Suzanne's data set. So, the middle half of the water usage values in Jason's data setis
more spread out than in Suzanne’s data set

Rubric

a. 1 point for answer; 1 point for mean of Suzanne’s data; 1 point for mean of Jason's data

b. 1 point for interquartile range for Suzanne's data; 1 point for interquartile range for
Jason's data; 1 point for comparing spread
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6.SP.2
SELECTED RESPONSE Select all correct answers.

Select the correct answer.

1. The test scores for a class are shown.
What is the average test score?
79,80, 92, 92, 81, 100, 88, 98, 71, 100,
91,90
@R @© 905
B 885 @ 92

2. Find the interquartile range of the data
displayed in the box plot shown.

[N ©s
®7 ™3

3. What is the median of the data set
shown?

34,86, 12,56, 21,98, 72, 34,21, 34, 45,
23,97,44

@34 © 44

® 39 @ 53

4. The number of people per household for
a street with 15 houses is shown. What
statement best describes the shape of
the distribution of the data set?

5. Which of the following statements
accurately describe the data displayed in
the dot plot shown?

o 5 10
(A The distribution is right skewed.
(B The distribution is left skewed.
(© The distribution is symmetric.
(D) The mean is approximately 5.4.
(E> The median is 6.

(F) The mode is 0.

CONSTRUCTED RESPONSE
6. Gianna is keeping track of how much

money she spends each week. Her data
is shown.

75, $123, $36, $86, $57, $89, $41, $70,
$148, $80

a. Find the median of the data set.
Show your work.
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b. Find the interquartile range of the,

data set. Show your work

Kouanbaig

(A Skewed right

(B) Skewed left
(© Symmetric

(D) Has two peaks




image3.png
Name

Date. Class

7. James asked each of his classmates how
tall they are. The data that he collected is
shown in the plot below.

48 54 60
Height (inches)

a. Whatis the average height of
James's classmates? Round to the

b. Are more of James's classmates
taller or shorter than this average?
Explain your answer.

8. The number of runs Jackie's baseball
team scored per game throughout a part
of one season is shown below.
3,7,8,9,2,4,51,07.24

a. Construct a box plot from the given
data set. Show your work

9. The number of hours Linda sleeps each
night for two weeks is shown. Find the
mean absolute deviation, rounding to
the nearest whole number. Explain
how this value describes the distribution
of the data.

8,7,65,8,9,10,7.5,9.5,8,9.5,
10,7.8,7

10. Suzanne and Jason live on different

streets. They are collecting data on how

many gallons of water per day the

residents of their streets use. This data is

shown below.

Suzanne's street: 100, 92, 83, 75, 95,

112,80, 73

Jason's street: 81,62, 98, 74, 82, 100,

121,93,76,72

a. On average, do the residents of

Suzanne's street or Jason's street
use more gallons of water per day?
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b. Describe the shape of the distribution

b. Compare the spread of the data sets
of the data set.

using the interquartile range.

c. The median number of runs Jackie's
rival team scored during the same
time was 5. How does Jackie's
baseball team’s median number of
runs compare to the rival team’s
median number of runs?
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6.SP.2 Answers
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a. To find the median of the data set, first
put the data values in order from least
10 greatest
$36, $41, $57, $70, $75, $80, $86,
$89, $123, $148
There are two middle values of the
ordered data set, so the median is the
average of the two values.
75+80

2
So, the median value is $77.50.

b. The upper quartile is $89 and the
lower quartile is $57. So, the
interquartile range is 89 — 57 = $32.

Rubric

. 1 point for answer; 1 point for
reasonable work

b. 1 point for answer; 1 point for
reasonable work

a. 54inches

b. The majority of James's classmates
are shorter than the average height;
8 are shorter and 6 are taller.

775

8.a. First, order the values in the data set
from least to greatest.
0,1,2,2,3,4,4,57,7,89
The least value is 0 and the greatest
value is 9.

The median is %

2+2
2

‘The lower quartile is 2 and the

upper quartile is %7

[y —— )
D
01234567831
b. The distribution is roughly symmetric.
. The median number of runs Jackie's
team scored was 4. So, Jackie's
rivals had a higher median number
of runs, 5.
Rubric
a. 2 points for gray
‘appropriate work
b. 1 point
c. 1 point

point for




